ADDING
INTERACTIONS
BETWEEN
VARIABLES
TO OUR MODEL
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IMPROVING OUR MODEL FURTHER

* Intercept model: height; = p,
« Age model: height; = By + BageAge;
 Age and male height; = By + Bage age; + Pmaie male;

1, child is male
0, Otherwise
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height; = by + B, male; + [, age; + Bmxg Mmale; - age;
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male; ={
« Age and male interaction



height; = By + B, male; + B, age; + bmxq Mmale; - age;

male; = 1

height; = bo + bm + o agei + Pmxa age;

male; = 0

height; = By + Bq age;
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height; = By + B, male; + B, age; + bmxq Mmale; - age;

male; = 1

height; = By + B + (IBa + Bmxa) A9€;

male; = 0

height; = By + Bq age;
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height; = By + B, male; + B, age; + bmxq Mmale; - age;

male; = 1

height; = By + B, + (IBa + :Bmxa) age;

male; = 0

height; = [ + Bq age;
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height; = By + B, male; + B, age; + bmxq Mmale; - age;

male; = 1

height; = By + B + (,Ba + ,Bmxa) age;

male; = 0

height; = By + [, age;
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Height

175 1

150 1

125 1

100 A

height; = By + ,Bage age; + Pmaie Mmale;
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height; = fo + fm male; + (Ba + Pmxq male;) - age;
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Height

175 1

150 1

125 1

100 A

height; = By + B male; + (B + Pmxa male;) - age;

== female
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height; = o + fm malei + (Ba + Bmxa male;) - age;

== female

) N y HJ%: ’”H

Height

100 A

Age
coef std err t P>|t]
Bo Intercept 86.7936 0.499 173.801 0.000 PJP4P4
Bm Gender[T.Male] -2.8803 0.711 -4.050 0.000
£, AgelnYearsAtScreening 5.1739 0.049  105.593 0.000 TECHS3
ﬁmxaAgeInYearsAtScreening:Gender[T.Male] 0.6536 0)

. 069 9.431 0.000
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Geir Drage Berentsen
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